RXC I 2840 %%

KXTENSION BAR

BAR

SWIVEL BAR

WALL BRACKET

SCREW 6/16"*L3"

SCREW M8*L30mm

ADJUSTABLE SCREN 1/4"-20UNC*L12mm

NUT 5/16"

Q|| |y | Ao e~

PLASTIC FLANGE ©8.5*816mm

...‘
<

END PLUG 16*%16

—
—

ABJUSTABLE SCREF {/4"-20UNC*L25mm

—
[a~]

ANTI STRIP W20*D150*T3mm

13

ANTI STRIP W204D90*T3mm

PLASTIC GUARD COVER

ABJUSTABLE SCREW 1/4"-20UNCL) 1/4"

Do Do |h (Do Do bl Do ta|bo| o] Mol b




